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ΘΕΜΑ Α
Α1. δ Α2. γ Α3. β Α4. α
Α5. α) Σ β) Σ γ) Λ δ) Σ ε) Λ

ΘΕΜΑ Β
B1. >
= ⟺ = . = = ό ⎩⎪⎨

⎪⎧ == >
Β2. = ⟺ = 3= 1 ⟺ = 3= − 12 = − ⟺ = − ⟺ = − ⟺= − = = − 9= − ⟺ = 19 = 3
Β3. = 7,8 ό ⟹ = 7,8 ό ⟹ = 1560

= 8,5 ό ⟹ = 8,5 ό ⟹ = 1020= ό ⟹ 80 = ό ⟹ = 80 ∙
Έτσι λοιπόν ισχύει: 80 + 1020 − 1560 = 164⟹ = 8,8 ό
ΘΕΜΑ Γ
Γ1.= 15 = 15 ∙ 1,6 ∙ 10 ⟹ = 24 ∙ 10= ℎ ∙ = ℎ ⟹ = ℎ ⟹ = 6,6 ∙ 10 ∙ 3 ∙ 1024 ∙ 10 ⟹ = 8,25 ∙ 10
Γ2. = 13 ⟹ = 2,75 ∙ 10= ℎ ⟹ = ℎ = 6,6 ∙ 10 ∙ 3 ∙ 101,6 ∙ 10 ∙ 2,75 ∙ 10 = 45.000
Γ3.= = 2 ∙ 10 ∙ 1,6 ∙ 101 = 3,2 ∙ 10= = 4,5 ∙ 10 ∙ 3,2 ∙ 10 = 1440



Γ4. = 12= 12 ⟹ = 12= 12 4 ⟹ = 4 ′
= = 360

ΘΕΜΑ Δ
Δ1.= 2 = −0,85= ⟹ = 16⟹ = 4
Δ2. = − = 12,75= 50100 ⟹ = 25,5
Δ3.= 2 1 ⟹ ℎ = 2ℎ ⟹ = 2= −ℎ−ℎ = 16 − 44 − 1 = 14
Δ4.

= 22 ⟹ ℎℎ = 22 ⟹ ℎℎ = 22 ⟹ = 8


